
 

                      Servo Drives External Dimensions 

 

ProNet-02A/04A/08A/10A/15A 

 

ProNet-20A/30A/50A 

 

ProNet 

C
N

1
C

N
2

U

V

W

L1C

L2C

B1

B2

B3

C
N

4

L1

1

2

L2

L3

C
N

3

POW ERCHARGE

200V
PRO NET-10A
SERVODRIVE

C
N

5

D  P  1  0  0

Mo
unt

ing
 Pit

ch

Mounting Hole Diagram

Air F low

U
s
e

 p
ro

p
e

r g
ro

u
n

d
in

g
 te

c
h
n

iq
u
e
s
.

D
o

 n
o

t to
u

c
h

 h
e

a
ts

in
k
. M

a
y c

a
u

s
e
 b

u
rn

.

R
e

a
d

 m
a

n
u

a
l c

a
re

fu
lly

 a
n

d
 fo

llo
w

 th
e

 d
ire

c
tio

n
.

D
is

c
o
n

n
e

c
t a

ll p
o

w
e

r a
n

d
 w

a
it 5

 m
in

u
te

s b
e
fo

re
 s

e
rvicin

g
. 

W
A

R
N

IN
G

M
a

y
 c

a
u

s
e

 e
le

ctric s
h

o
c
k. 

C
A

U
T

IO
N

NameplateExtended Module

Three Terminal

Air Flow
2-M4 Ground Terminal2-M4 Screws

Air Flow

Air Flow

CoolingFan
4-M4 Screw Holes

Figure

Approx.m ass: 5.0kg

C
N

2
C

N
1

C
N

3
C

N
4

P O W E RC H A R G E

20 0V

P R O N E T -5 0A
S E R V O D R IV E

Mo
unt

ing
 Pit

ch

M oun tin g P itch A ir F low

M oun ting  H ole  D iag ram

D  P  1  0  0

C
N

5

U
s
e

 p
ro

p
e

r g
ro

u
n
d

in
g
 te

c
h
n
iq

u
e
s
.

D
o
 n

o
t to

u
c
h
 h

e
a
ts

in
k
. M

a
y
 c

a
u
s
e
 b

u
rn

.

R
e
a
d
 m

a
n
u
a
l c

a
re

fu
lly

 a
n
d
 fo

llo
w

 th
e
 d

ire
c
tio

n
.

D
is

c
o
n
n

e
c
t a

ll p
o
w

e
r a

n
d
 w

a
it 5

 m
in

u
te

s
 b

e
fo

re
 s

e
rv

ic
in

g
. 

W
A

R
N

IN
G

M
a
y
 c

a
u

s
e
 e

le
c
tric

 s
h
o
c
k
. 

C
A

U
T

IO
N

A pprox.m ass: 2 .5kg

C ooling  F an

N am ep la teE xtended  M oduleA ir F low4 -M 5 S crew  H o les

F ig ure

 Term ina l
(14 -M 4 S crew s)

G round Term ina l2 -M 4  S crew s



ProNet-75D/1AD/1ED 

 

C
N

2
C

N
1

C
N

4
C

N
3

POWERCHARGE

400VSERVODRIVE
PRONET-1ED

D P 1  0  0
C

N
5

Mo
unt

ing
 Pit

ch

Mounting Pitch

Mounting Hole Diagram
Air Flow Air Flow

Air Flow

Use proper grounding techniques.

Do not touch heatsink. May cause burn.

Disconnect all power and wait 5 minutes
WARNING

May cause electric shock. 

CAUTION

Read manual carefully and follow the direction.

before servicing. 

Approx.mass: 14.0kg

4-M5 Screw Holes
CoolingFan

Figure

Ground Terminal2-M6 Screws

Extended Module

Nameplate

Cooling Fan



                             Typical Connection Example 

 

 

ProNet 

Three-phase 200VAC (ProNet-10A to 50A) 

Noise filter

L1 L2 L3

Single/Three-phase 190~ 245VAC    

(50/60Hz)

Power OFF Power ON

KM 1SUP

KM

Ry

L

L2

L3

    1

    2

W

V

U

M

PG

Servo motor

Encoder

A(1)

B(2)

C(3)

D(4)

L2C

L C

B1

B2

B3

+

A/D

CN1

CN2

2K

150

150

3.3K

2K

PULS / CW / A

SIGN / CCW / B

Connect shield to connector shell.

PRONET series servo drives

Open-collector reference use

Speed reference (±1V to 10V / rated motor speed)
Torque reference(±1V to 10V / rated motor torque)

Position reference

Signal allocations can be 
modified:
S-ON:  Servo ON
P-CON:  P control
P-OT:   Forward run prohibited
N-OT:    Reverse run prohibited
ALM-RST:  Alarm reset
CLR:    Clear error pulse
P-CL:   Forward torque limit
N-CL:    Reverse torque limit 

+
2

4
V

P
P

P
P

PG dividing ratio outputApplicable line receiver AM26LS32A manufactured by TI or the equivalent

Signal allocations can be modified:V-CMP:   Speed agree detectionCOIN:   Positioning completionTGON:   Motor rotation detectionS-RDY:    Servo readyCLT:   Torque limit detectionBK:    Brake interlockPGC: Encoder C Pulse output

P Represents twisted-pair wires

ALM:   Servo alarm output
Photocoupler output:
Maximum operating voltage: 30VDC
Maximum operating current: 50mA DC

-

-

+

ref

ref

40K
10K

40K

10K

+5V

CN3

CN4

Use special communication cable link PC(personal computer)

Ry

1D

V

V

Surge protector

Magnetic contector1KM

Molded-case circuit breaker
1QF

Ry

1PL ( Servo alarm display)

1

+5V2

485+3

DGND4

DGND5

485-6

CANH7

CANL8

N.C.1

N.C.2

485+3

DGND4

DGND5

485-6

CANH7

CANL8

PAO+20

PAO-21

PBO+22

PBO-23

PCO+24

PCO-25

DGND50

TGON+

TGON-6

S-RDY+

S-RDY-10

V-CMP+11

V-CMP-12

ALM+

ALM-

VREF+ 1

VREF- 2

AGND 3

TREF+ 26

TREF- 27

AGND 28

Shield

PPI 34

PULS+ 30

PULS- 31

SIGN+ 32

SIGN- 33

DICOM 13

S-ON 14

P-CON 15

P-OT 16

N-OT 17

ALM-RST 39

CLR 40

P-CL 41

N-CL 42

Shield Shell

B2

B1External regenerative resistor

B3

SIN+7

SIN-8

COS+17

COS-18

R19

R219

ShieldShell

Resolver

Shell

Option

ShieldShell

ShieldShell

Be sure to ground.

Be sure to prepare the end ofthe shielded wire properly.

Be sure to attach a surge suppressor to the excitationcoil of the magnetic contactor and relay.

S+7

S-8

BAT+17

BAT-18

PG5V9

19 PG0V

 Serial encoder



 Three-phase 400VAC (ProNet-75D to 1ED) 

Noise filter

L1 L2 L3

Power OFF Power ON

KM 1SUP

KM

Ry

L

L2

L3

W

V

U

M

PG

Servo motor

Encoder

A(1)

B(2)

C(3)

D(4)

L2C

L C

B1

B2

+

A/D

CN1

CN2

2K

150

150

3.3K

2K

PULS / CW / A

SIGN / CCW / B

Connect shield to connector shell.

PRONET series 
servo drives

Open-collector reference use

Speed reference (±1V to 10V / rated motor speed)
Torque reference(±1V to 10V / rated motor torque)

Position reference

Signal allocations can be modified:
S-ON:  Servo ON
P-CON:  P control
P-OT:    Forward run prohibited
N-OT:   Reverse run prohibited
ALM-RST:   Alarm reset
CLR:    Clear error pulse
P-CL:     Forward torque limit
N-CL:    Reverse torque limit 

+
2
4
V

P
P

P
P

PG dividing ratio outputApplicable line receiver AM26LS32A manufactured by TI or the equivalent

Signal allocations can be modified:
V-CMP:    Speed agree detection
COIN:    Positioning completion
TGON:    Motor rotation detection
S-RDY:    Servo ready
CLT:   Torque limit detection
BK:    Brake interlock
PGC: Encoder C Pulse Output

P Represents twisted-pair wires

ALM:     Servo alarm output
Photocoupler output:
Maximum operating voltage: 30VDC
Maximum operating current: 50mA DC

-

-

+

ref

ref

40K

10K

40K

10K

+5V

CN3

CN4

Use special communication cable link PC(personal computer)

Ry

1D

V

V

Surge protector

Magnetic contector1KM

Molded-case circuit breaker1QF

Ry

1PL (Servo alarm display)

1

+5V2

485+3

DGND4

DGND5

485-6

CANH7

CANL8

N.C.1

N.C.2

485+3

DGND4

DGND5

485-6

CANH7

CANL8

PAO+20

PAO-21

PBO+22

PBO-23

PCO+24

PCO-25

DGND50

TGON+

TGON-

S-RDY+9

S-RDY-10

V-CMP+11

V-CMP-12

ALM+

ALM-

VREF+ 1

VREF- 2

AGND 3

TREF+ 26

TREF- 27

AGND 28

PPI 34

PULS+ 30

PULS- 31

SIGN+ 32

SIGN- 33

DICOM 13

S-ON 14

P-CON 15

P-OT 16

N-OT 17

ALM-RST 39

CLR 40

P-CL 41

N-CL 42

Shield Shell

External regenerative resistor

Three-phase 380 to 440VAC       (50/60Hz)10%

15%

ShieldShell

ShieldShell

Be sure to attach a surge suppressor to the excitationcoil of the magnetic contactor and relay.

Be sure to ground.

Be sure to prepare the end ofthe shielded wire properly.

Shield

SIN+7

SIN-8

COS+17

COS-18

R19

R219

ShieldShell

Resolver

Shell

Option
S+7

S-8

BAT+17

BAT-18

PG5V9

19 PG0V

 Serial encoder



 

 

 

 

 

Mission & Vision 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Estun Automation Technology Co., Ltd. 

Add.: 155 Jiangjun Road,Jiangning Development Zone, 

Nanjing 211100,P.R.China 

Tel:   +86-25-52785915 Fax:   +86-25-52785576 

Website: http://www.estun-servo.com 

Email: export@estun.com 

Copyright ©Estun 2010. All trademarks recognized. Specifications subject to change without notice. 

Estun's Brochures and Technical Guidance 

 

ES2009-A  Estun Outline 

ES2009-B  Motor Outline  

ES2009-C  Estun Sales Agent Training Course 

ES2009-D  Estun Servo Parameter Adjustment Guidance 

ES2009-E  Second Electronic Gear 

ES2009-F  Speed Forward-Feedback Function 

ES2010-A  EDB/EDC Series Product Brochure 

ES2010-B  ProNet Series Product Brochure 


